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Time difference analysis

Sigma : 0.257 Sigma : 0.2513

<bottom : t0 – t1> <top : t2 – t3>
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tmean_t : (t0+t1)/2
tmean_b : (t2+t3)/2

dtmean = (tmean_t) – (tmean_b)

Time difference analysis

Sigma : 0.1605
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Find dt with a Gaussian fit 

Peak time 

𝒚 = 𝒈𝒂𝒖𝒔 𝟎 + 𝟑
(𝑝𝑒𝑎𝑘𝑡𝑖𝑚𝑒 − 100 < 𝑦 < 𝑝𝑒𝑎𝑘𝑡𝑖𝑚𝑒 + 1)

1 = 𝑚𝑒𝑎𝑛 = 𝑝𝑒𝑎𝑘𝑡𝑖𝑚𝑒



2016-08-24 KGBAR SNU 5

Find dt with a Gaussian fit 

a. Oscilloscope data – 2 triggers(0725)

<2-point interpolation> <Gaussian fit>

Mean = 15.63
Sigma = 0.6528

Mean = 15.47
Sigma = 0.4414
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Find dt with a Gaussian fit 

b. FADC data – 2 triggers, 2 modules (0804)

< 2-point interpolation >

< inverse interpolation >

< Gaussian fitting>
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Find dt with a Gaussian fit 

b. FADC data – 2 triggers, 2 modules (0804)

<Gaussian fit><inverse interpolation>
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Find dt with a Gaussian fit 

b. FADC data – 2 triggers, 2 modules (0804)

<Gaussian fit><inverse interpolation>
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Quatation for H7195


